0T5012 15502

2019(Odd) Old Syllabus

Time : 3Hrs. Sem -V-C/R
CADD

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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11.

RET & ARG =g UfhAR &I fad |

OR(3721dT)

Describe the following in brief :
(i) UCS

(i1) 3DUCS

(iii) VPORTS

(iv) Raster image

fA=rifed &1 987 ¥ quiq @ -
(i) gefrew

(i) Frfaefra gefiew

(iii) gficuca

(iv) Irex yfafew

0T5012 0T5012

(i)

(iii)

(iif)

(iv)

What is HATCH Command ? Describe different
types of hatch pattern available in a CAD software.

8

2d BUlS HIT & ? ©e difcday ¥ IUoTer

faftr=1 yoR & 29 ded @1 avfa & |

3 15502

PI—4r sHlde e & ?
(@1 gPuic fiex

(@) dorR fiex

(@) Ssit e

(]) wiicx

Array command creates

(a) Multiple copies in pattern

(b) Multiple copies without pattern
(c) Both (a) and (b)

(d) None of these

W HHS ST~ Bl © |

(31) sga Wl &idl ¢ ded 49
(@) sga a S fa=r ded o
(\) == (31) 3R @)

() 39 9 BIg 7€

Which function key is used for object snap
on/off ?

(a) F1

(b) F2

(c)F3

(d) F4
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el de YIfbay fa=sl &1 W IRG &ia vi) e B [AEIRd Bisd sl 2 |
IR 3UD Y& JAqFAl HI 3UH QT | (31) .doc
(@) .exe
OR(37214) (\|) xls
() .dwg

Describe any five significant EDIT Commands

with example. (vii)  The 4-bit binary equivalent of the decimal

number 6 is.
fodl dfa g ufse wHais &1 AlarEve () 0111
qufa B | (b) 0110
(c) 0010
(d) 1000
8. How can 3D drawing be created in CAD ? Describe
different methods to create 3D model with sketches. i)  SIHA AT 6 B 4—dIe drell Gl
_ _ 8 fy—amemd) W g |
ds o ffeda giga @9 fAffa &) wrdr 22 (@) 0111
ARG & are BHfefy dtea fFAffa 3 a1 @) 0110
fafyr=r faferay &1 avfs &Y | () 0010
(<) 1000
OR (3121a1)
(viii)  Which of the following key stroke will
Explain wireframe modelling and solid modelling activate UNDO command ?
with sketches. (a) Control +Z
(b) Alt+Z
IRY P Tl dRINSH ArsfolT Td I (¢) Control + U
HisfT B e ¥ | (d) Alt+U
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OR (3121a1)

What are important output devices used in CAD ?

Explain any one.

D€ ¥ Ygad 9q@ 3IScyc WIF HiT 4 B2
fosll v &) e W |

What are the techniques of solid modeling used

in practice ?
4

FasR d Sy o AfsfaT & F1 T8®
g ?

OR (3121an)

What is ARRAY Command ? Describe different
types of array with neat sketch.

W HHTS HT 2 ? WP IR & A1 fafr—=
YhR & U BT 9o Y |

Distinguish between BLOCK and WBLOCK
Command in CAD. 4

0T5012

x)

(xi)

(xi)

(xii)
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SR BHATS BT YA fbar Sirar 2

(31) fyerf =AY a¥gan &1 g g
o @ forg

(@) Tafa aegat & frem & foag

() (@) 3k @) < B feag

(?) 3% @ »Ig LN

OFFSET command is used to create
(a) Concentric circles

(b) Parallel lines

(c) Parallel curves

(d) All the above

ATeAe HHATS ST YANT BT 2 |
(@) g9 g A A

(d) TR Y@1Y g9 o
() R 9% 999 °

(%) Swiaa g+

Plotter accuracy is measured in terms of its
repeatability and its

(a) Resolution

(b) Buffer size

(c) Vertical dimension

(d) Intelligence
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xx) TH IR A3 fous foag ygea giar @ ?
(@) A-fes Renewa safsT
(@) dfes R ssfear
(@) vvga Ron=a At
(€) 39 9 BIg T8

GROUPB

Answer all Five Questions.

gl ufg gl & SR o |

4x5=20

2.  Write three positioning tools or Drafting aids.
4

= Rerfoat e siear gifieT wsraaret
3l ford |

0T5012 9 15502

xiv) fFrifea § 4 $I9 Scye G337 81
27
(31) Wistaex
(@) ===
() wax
(?) @R

(xv)  What is the default size of CAD graphics
window ?
(a) 9" (H) x 12" (V)
(b) 12" (H) x 9" (V)
(c) 12" (H) x 14" (V)
(d) 14" (H) x 12" (V)

xv) ®s YTfhaw fast &1 fSwice MHR
T 8 ?
@1) 9" (H) x 12" (V)
() 12" (H) x 9" (V)
() 12" (H) x 14" (V)
(%) 14" (H) x 12" (V)

(xvi)  Which of the following is a valid option in
CIRCLE Command ?
(a) 3P
(b) 2P
(c) TTR
(d) All the above
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